Fruit Loops

Start the unit with the video.

As new topics are discussed, tackle a new problem.



Fruit Loops

1.) What is the height of the big box?
2.) What is the volume of the big box?

3.) How many normal sized fruit loops would fit in the box?
- What should the 'Servings per Container’ say?

4.) How big would each Fruit Loop be if it increased
in size with the box?



For each stage:
1.) What is your estimate
2.) What would be too small?

3.) What would be too large?



How big is the box in the background?
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Fruit Loops




The Height is 3% times longer.

How much bigger is the box?



How much greater is the volume of the
box on the right?

36"

10 3/4"



Actual Dimensions

2 1/8"
36"

10 3/4"

7 1/2"
24"

What should be the Serving Per
Container of the larger box?



Fruit Loops

What should be the Serving Per Container of the larger box?

Nutrition Facts
Serving Size 1 Cup (299)
Servings Per Container  About 8
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Fruit Loops

How big would each Fruit Loop be if they also
increased in size with the box?
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Is this accurate? Too big? Too small?
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